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Q.1. During Genghis Khan’s attempt to conquer China, North China was ruled by-
(a) Hsi-Hsia (b) Jurchen (c ) Sung dynasty (d) Ogodei
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Answer-(a) Hsi-Hsia & -f&ar

Feedback- At this time China divided into three realms, the His-Hsia people of Tibetan origin in
the north western provinces.

Q.3. Why was the Great Wall of China built?

(a) To store grains (b) For The protection of China( c) To export materials ( d) None of
the above
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Answer-(b) for the protection of China el & FR&T & forw

Feedback- Throughout its history China suffered extensively from nomads intrusion and

regimes-even as early as the 8" century BCE-built fortification to protect their subjects,
starting from 3" century BCE.

Q.4.Genghis Khan mother name was:
a. Oleun-eke

b. Oelun —kiyat

c. Batu

d. None of the above
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Answer- a. Oleun-eke 37.3{TeIg+-Teh

Feedback-He was the son of Yesugei, the chieftain of Kiyat. His father was murdered at
an early age and his mother Oelun-eke raised Genghis khan and his brothers.

Q.5. Genghis Khan died in-------- .

a. 1224 CE
b. 1225CE
c. 1225CE

d. 1227CE
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Answer- (d) 1227CE (830 §.)

Answer-Genghis khan died in 1227CE.
Q.6. Considerer the following events:

1. The Great cities-Bukhara, Samargand, Balkh and Herat surrendered to the Mongol
force.

2. The Great Wall of China breached.

3. Genghis Khan returns to his Mongolian Homeland.



4. Genghis Khan had reorganised the Mongol people into a more effective disciplined
military force.

The correct chronological order of these events is:
(a) 4,2,3,1(b)1,2,3,4 (c) 2,3,4,1 (d) 3,2,4,1
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(37) 4,2,3,1(9)1,23,4(H)23,4,1(2) 3,241

Answer-(a) 4,2,3,1

Feedback-Just before of quriltai of 1206 Genghis Khan had reorganised the Mongol
people into a more effective disciplined military force.

The Great Wall of China breached in 1213.

Genghis Khan returns to his Mongolian Homeland in 1216 and leave the military affairs
of the region to his subordinate.

In the campaigns between 1219 and 1221 the Great cities-Bukhara, Samarqand, Balkh
and Herat surrendered to the Mongol force.

Q.7. Match the following and choose the correct option:

List-I List-Il
A. Genghis Khan 1. The courier system
B. Yam 2. Temujin
C. Blood brother 3. Anda

D. An assembly of chieftains 4. Quriltai
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Feedback- An assembly of Mongol chieftains was known as quriltai.  the childhood
name of Genghis Khan was Temuijin.

Anda meant blood brother.

The courier system was known as Yam.

Q.8. Considerer the following statement regarding the responsibility of governing the
newly conquered people and choose the correct options:

1. The eldest son, Jochi received the Russian steppes.

2. The Transoxianian steppe given to the second son chaghtai.



3. Ghengis Khan indicated that his third son, Ogodei would not succeed him as the
Great Khan.

4. The youngest son Toluy received the ancestral lands.
Options:
(a) Only 1 is correct (b) Only 1 and 2 are correct (c) Only 1, 2 and 4 are correct

(d) Only 4 and 3 are correct
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Answer-(c) Only 1, 2 and 4 are correct (&) shdel 1,2 3R 4 @' &

Feedback- Ghengis Khan indicated that his third son, Ogodei would succeed him as
the Great Khan.

Q.9. There are two statements marked as Assertion (A) and Reason (R), mark your
answer as per the codes given below.

Assertion (A) The Mongols was a fierce tribe of Central Asia.

Reason(R) They were natives of Hindustan.
(a) Both A and R are the correct and R is the correct explanation of A.
(b) Both A and R are the correct and R is not the correct explanation of A.

(c) Alis incorrect but R is correct.



(d) R is incorrect but A is correct.
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Answer- (d) R is incorrect but A is correct. () R 3Tl & oifchel A TET £ |

Feedback- the Mongols was a fierce tribe of Central Asia. They nomadised in the
steppes of central Asia in a tract of land in the area of the modern state of Mongolia.

Q.10. Identify the picture from the given options:

(a) The Great wall of China (b) The Great wall of Russia (¢ ) The Great wall of India (d)
The Great wall of Mongolia
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Answer-(a) The Great wall of China (37) @ $I #glT daR

Feedback- Throughout its history China suffered extensively from nomads intrusion and
regimes-even as early as the 8" century BCE-built fortification to protect their subjects,
starting from 3" century BCE.



